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1 a)  Name the parts labelled A-D in Figure 1. (4 marks)
A D
B
C
Figure 1
b)  Explain how the structure of two of the labelled parts help it perform effectively. (4 marks)
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a) Give the chemical equation for photosynthesis.

b)  Balance the chemical equation given in Question 2 a).

c) Explainthe process of photosynthesis.

Give one benefit and one limitation of seed dispersal by wind.

Explain one consequence of a blocked air filter and how it affects the performance
of a chainsaw.
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5 a) Identify one suitable method for felling a tree in breezy conditions. (1 mark)
b)  Givetwo reasons for the felling method chosen in Question 5 a). (2 marks)
6 a) Statetwo pre-start checks required before using a chainsaw. (2 marks)

b)  Explaina consequence of not carrying out each of the pre-start checks stated
in Question 6 a). (2 marks)

7  Give four reasons for leaving waste on a work site. (4 marks)
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8 a) Statethe common and scientific names of the fungi shown in Figure 2. (2 marks)

Figure 2

b) State the common name of their preferred host. (1 mark)

o+ 5 See next page +
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c) Forthefungus namedin Question 8 a), explain two ways to manage the affected
treein Figure 2. (4 marks)
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9 a) Giveoneexample where breeding for resistance to pests and diseases is
an appropriate management strategy. (1 mark)

b) Describe two limitations of this strategy. (4 marks)

o+ 7 See next page +
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10 a) Briefly describe the function of a PiICUS tomograph in decay detection. (2 marks)
b) Describe one benefit and one limitation of a PiCUS tomograph. (4 marks)
11 Explain why there is a system for reporting notifiable diseases. (2 marks)
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12 Discuss the factors to be considered when managing and working in an ash woodland
suffering with Hymenoscyphus fraxineus (Chalara/Ash dieback). (12 marks)

b 9 End of examination ol



